EARAROBEEIERT — 2 N— IBISH —F

20174118248 (&) 14EI%#4H

Elch Fxzm) v5%2moP

BRI R

[A~&E£] 17 :2,500,000  ~ 23 :625,000 37 :250,000 F

4 7% 150,000 . 5 3& : 100,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
B FRINARI :28. 22— . — HIEER (1)
(W22 1kETSF w2 R i R b M I T -
L:7UF—v Bv—RXARKTv>T BRI 7— L
4 o | BlEFIth 1:28.9 3-3-3-3 [38.9| — 4 474 | SEHEED (54)
20l7| 7| /AT 54.0 (1 1/2) (o) | EEHZA
R:d—ILRAMO— B:x(7T #BAR HE
=5 5. F 4 o2 | EERR 1:29.5 4-5-4-4 |39.2| — 1 459 | FLEEE (%)
3l8l10/ 7T FRZvH— 55.0 3) () |HBEEL :
LR=—HINE BATHIUNT 1 — =FI 45
. # o2 | AEFBERE 1:29.5 1-1-1-1 |39.9| — 5 432 | HEEE (88)
4 2 J0-L>X 54.0 7(£)) (-9) BBHER
YL RELT—) BT Fav G F T — I
N helzskey :30. —6-5- . — LHEE (1)
517|g|FIANUAZ "2 1?33 [Rani ? <4+318) BHET
Z:A—-KNUAZ B:AXO=H #AR RE
. EEEt : -9-8- = HEET] (5H4R)
N BEEYAUEA B 2 23N 1(73?:;1 10-9-8-8 | 38.6 8 (4_421) il A
LT ReA YT vy B:aq7L0F41 =e)
#o2 | WTHEZ 1:30.7 8-8-8-9 [39.2| — | 9 | 47 |FAB— (EH)
7155 AT A 54.0 (11/2) -1) SBARFE
LA agR—F— YT b—4 sl §k—
— 4 2 | FEERE 1:30.9 6-7-7-7 | 40.0 | — 6 412 | RHEHUK (1)
8 3 XA/ Y —7 41— 54.0 (1 1/2) 0 = :
R:TF14—=TTVS 7 B:T7AMOT—AN Bllikae]
< B[IE :31. —4-6- . — EE® (1)
9 6| RI 1 TI—I— i 2 P 1 (331)5 5-4-6-6 | 41.2 10 (4_335) bl A
LI INATA—h— B:Y—TIhLZX WmAxR 51T
Y o2 | BEREHE 1:36.0 9-10-10-10 | 42.8 | — 7 487 | FLEZE (1)
100111]& V>3 y b 55.0 (24 4%) (+10) (R) J PN*%?T
L:AO—LisL4a B:wieyxtx 2l &7
® 1—F—@EBIERL
1T=7r= 2,4,7,10,6,3,8,5,1,9
20—F— 2,4,7,6,10,8,3,5,9,1
Ja=5= 2,4,7,10,8,6,3,(5,9),1
40 —F— 2,4,7,(8,10),6,3,9,5,1
[ N5
B 4 650 714K 4-7 660 e E 4-7 770M JEE 4-7-10 1,500
B B 4 200/ 4-10 270M B = 4-7 2,800 JEE 4-7-10 13,930H
7 200/ 7-10 300M B H 4-7 6,360
10 1209

ABICOVWTRDTEEERROODE. TR LIV,




